


Boundary conditions:

1.  Fluid sticks to solid surfaces 
2.  Fluid sticks to another immiscible fluid
3.  The shear stress is continuous across the 
fluid-fluid interface

4.  For liquid flowing next to quiescent air, the 
stress can be considered approximately 0.





















































In the largest arteries for humans, the Reynolds 
number is large enough that we would expect 
turbulent flow and for the first few generations of 
the arterial system the flow is pulsatile.  

So there are some limits to exact application of 
the analysis that we can do.  

However, we can get some useful insights so we 
shall proceed.  (You can read more at another 
time.)








